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for the questions

1. oo WMIPHRe wa Teq Ay Sfrear - 1x8=8

Choose the correct answer from the following :

g (a) Caste in Modern India and Other Essays
AT AR AT (FIE 7

Who is the author of the book, Caste in
Modern India and Other Essays?

(i) SE. @, =
R. N. Sharma
(ii) Q. 9. W=
A. M. Shah
(i) @¥. @1 RfeEm
M. N. Srinivas
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(b) T RO TS TBI-o7 SR 7y 2

Which of the following tribes does not
belong to North-East India?

@) IR
Kuki
(i) IO
Bodo
(iii) &
Bhil

(c) meaﬂmtaﬁﬁm%wm?

Which one of the following is not an
essential feature of caste system?

() BRI
Endogamous group

(i) sfeMerer
Mobility

(i) =R e e WyRe
Based on birth
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(d) T EmEe 00
Monpa tribe is the tribe of
() =PTE
Assam
(it) SO AT
Arunachal Pradesh
(iii) e
Sikkim

(e) Social Problems in India << 249 (5TF
@ ?

Who is the writer of the book, Social
Problems in India?

(i) @9 9. 9. S
M. S. A. Rao

(i) N S
Ram Ahuza

(iii) . @5, TG
K. M. Kapadia

14P—12%/882 ( Turn Over )



(4)

() =ifs wazr Ifeere Prama Somem @m o

Who is the propounder of the
occupational theory of caste system?

i & 95 @R
G. S. Ghurye

(i) GRS
Nesfield

(i) 9% <. [eey

M. N. Srinivas

(g) ‘Gior KA’ tam
Muta marriage’ is
() T fRar
Hindu marriage
(ii) Cem 7
Jain marriage
(i) Te=am g
Muslim marriage

14P—12%/882 ( Continued )

9 O e



- r,u;s._lw e

Ll

(S)

(h) TPl SR SRR (PN 57 RS 2 ?
Untouchability Offence Act was passed in

() 1955
(i) 1956
(iii) 1961

2. & cow SIRBR @RS B (Brt ot (2ifc 150 =3
oS \'J) : ' 4x4=16
Write short notes on any four (thhm 150
words each) :

(@) <o e (AR
Characteristics of urban society
(b) ARTE
Family
(c) TRcmere™
Unemployment
(d) FTR
Sanskritization
(e} m ﬁqli

Islam marriage

(n T

Delinquency
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8. R o w1 e Tww fam (afohr 500 R

$Oq9) : 14x4=56
Answer any four questions (within 500 words
each) :

(a) smEfes e i | Seq-of Sre wmwis e
-G TR R B 4+10=14

Define tribe. Write about the socio-

economic problems of tribal society of
North-East India.

(b) mﬁﬁ%%?ﬁmmwﬁ@www
fera |

What is kinship System? Write the
importance of kinship System in society.

(c) S TR ikt i | @il e AfRader s
FRDTZ SO 354 | 4+10=14
Define caste system. Discuss the major

factors which are responsible fo

r change
in caste system.

(d) WWW?&&WWWW@%
CAPBPTE Srar | 4+10=14

What do you mean by religion? Discuss
the basic characteristics of Hinduism
and Christianity.
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(e) SPTIR WHAW FEICINE ToT© PR F41 AP
5ifeq A BN @RI AP SISO 7 G2
Seofc Gfo SCEGAT SSRTEHT | 14
What suggestions you would suggest for
the upliftment of the below poverty

classes of people of Assam? Provide a
discussion on it.

() ST IR @ARA? SO 24
CAMErTR SraEY 4 | 4+10=14

What do you mean by industrialization?
Mention the major characteristics of
industrialization.
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